—2x+4=ax+2b 7} x ol tf

1.

B 1

@ 0



54 ax+2= dv-b 7k RE x] ool B4 3
Hstel ab © -7

@D =10 @ -8 3 -3 @ 8



Tl

S

x of o

L=}
—

SAax+2=5x-b7} 2

3.

o -2 3 2 @ 5 B 10

D =10



m,

aax+4:2<x+3>
a+bo goeg &

D 0 1



B 2

A 1

® 0



SHax+1l=b-xe=x=—2¢ g o] x=1d 0=
ab °] 27

@D -2 @2 -1 3 0 @ 1 B 2



o, a2 + 2ab + b 9] FF2?

@ 48

® 54




ax+b=2x->5a

@ 9 3 24 @ 48 3B 96

@D 6



192 1), 20— b?

S

SR

ax+8 = 4(b+ x) °

ol
N

3 3 @ 4 ® 5

® 2



1 off, 2a + b <]

ol

3 3 @ 4 B 5

® 2



ol
N

® 6 B 7 @ 8 ®B 9

D 5



12.

S a(x+3)=—-x+b7Fx2 gkl
o] gr2?

D 5 @ 6 3 7

I}

o

Al

%}\o

194



@ 2 3B 4

1



® 2 3 3 @ 4

D 1



15. o3 54lo] x
a+b o 327

o Tt 5 Al0] HES SHe 44 a, b2 O

RELER S

gatod

o5 ©

3ax=6x+3b+5

O]

Wl =

Wl o



ohg WA FolA o7 B s

D 2x+4=0
® 3x=x-4

® 3(x-2)=5x-2

@ 5-2x=2x—-4

@ 2(x-2)=x-6



4x-3(2x—1)=5%5 EH?

@ x=-1 ® x=4

D x=1

® x=3

@ x=-4



el
Hi

B 2

@D 3






=x-2

3(x-1)

2x—-1=x-2,

— AN~ |
|

@ x=1, x
@ x=-1, x



@ 2(x+1)=-x+3
@ —(x+1)

D 2wx-1=2

x—5

®4-(x-1)=x

® 5

2(x+1)



@ 2 B 3

1



23. o AATAA 3(2x - 13) = 3(x - 7) o BB FoFH?

D 2 ® 3 B 4 @ 5 B 6



1;].% HlA] /K]

o o 1

@ 2x=10-3x

® 2(x+2)=1

= e =

® 4(2x-3) = 5x

7} e A

@ 9-2x=x

°9

@ 3(x—1)=4x



HAA x+4(x+1)
O x=-2

—10 — 2x 9] =2

@ x=-1
® x=3



@D 2x-4=—x
® 4(2+3x) = —6x-28

® -4(x-1)=2(x+78)

@ 5x+1=3x+5

@ 7(x-3)=-(x+11)



27.

~ a
A 2(x-5) +T=Sr+2(r+11) A Wb r=a L, ¢ -

of g Tot?

@D -5 @ -4 3 -3 @ -2 B -1

25

a



28.

= -

The % AAPHA 3 -5y — -3x+ 4 9] S9} 2L A 2 WA
o9

® 5x+2=17 @ Tx-11=4x-1

® x+8=-2(x-1) @ 3(4x-7)=1-7(2x+5)
® -5(x+6)=12(x—4)



@ 1 G 2

3 0



30.

HF

o

A

A
=1

D1

0.5x— 1.2 =0.2x + 0.32] = F5}4H ?

@ 2 3 3 @ 4



31. o2 HAHA 0.6x-2=0.1x 2 =
) 10
@ -4 @ v ® )

Foh?

® 40



32. o LA A FollA 0.12x - 0.1 = 0.26 I Sf7F 22 AL9

® 3x-6=0 @ -2x+3=-3 ®x-2=11

@ x—-5—=28 3 2x—6 =10



® x=-2

@ x=-10

@ x=-15

10



@ 3(x-1)+7=0

@D x+3=2

@ 0.2x-3=0.5x

®2=2-4{1-(2x-7)}



@ x=4 Q x=-4

D x=-2






37. A 05(x+2) = 1.3+0.2x 2] Sf=?

D -1 ® 0 A 1



38. AT a(3x-1)-5=2+x 9| 37t 1L o, FAHA 0.2(x—a) =
1.1+ 1.5x 9] 32

19 19 19
X = @X:—*

11 9



@ x=-2 ® x=-3

D x=-1

B x=-5

@ x=-4



40. T AZ THSk= UG x y 7F QUEk o] W, x4y O] FH27

0.8 (4 - 2x) = — (1.6 + 0.8x)
0.09y — 0.2 = 0.05(y—3) - 0.3

© -% @ -2 ® -3 N

| =






?

Sy
1

3

@ -9

O 13



43. T AN @2 d= ©2 dle] —2Holtt. o] u, k ©] Fe
e

@ x-Bx-k)=1 @gx—o.?)x:—g

D -5 ® -1 3 0 @ 1 B 5






s

1

|

ot

ol

ok WAl

0.2x+04=-0.17x-0.34

@ x=-3 @ x=-2 @ x=2
@ x=0 B x=1




PR 0.01x + 4.1 = —0.02x — 0.1

Q1%
=

46.

@O x=-140

B x = 140

@ x=17



@ x=-20 @ x=-12

@ x=10 G x=14




48.

HER R

D x=-3
@ x=2

7-14x=03(2x-1) + 1.3 ¢ s}=?

@ x=-2 ®x=1
® x=3



49. WA 14x-5= ?”CT_a o] S|7} Al LT} B Zadss 4 o] A=

@D 274 @ 370 3 474 @ 570 ® 670



50.

%x+2:6(x—1) 9] 8| & FotA?

24
@1—7 @ 3 ® -2



N7t x = ad o, xof &

9|

HFA A 3x -5 = 2.8 — 3x 9]

5 Folu?

Sf

_29,]

ax—i—g:

@ -5 ® -11

13 13
= -= -2
T ®

D -



o, a o] Fro2

Q]
=

A7tx =1

ax+2=x-39

ol
T
Ot

® 4

@ 3






=T7x+a

a(l2 —x)




a—Xx

o7t x =11 Y o], a 9] Zt-&?

3 0

@ -3

® -2



Fo}?

®

Ot W

3ax+1 9] oH7}04(3x—1)_23+

o oa 9 WA=

~J| Ot

NoRIEN|

3 o] g



57.

0.4x+2=0.23+ax) & a7t x = -4

@ ®

Wl
| =

@

N =

Q]
=

o, a 9] FH2?

@ ®

ot =

=



X+a

X

a

+ =19 tx=12 0, a 9 G2

5

2 1

A 2

@ 4

B 5



59. oA 7t x=-2 L W, a & G2?
a(x-2) ax-2 1

4 3 2

@1 )






61. oL T P S 2 ). a 9 2L

0.03x = —0.2(1.2x - 2.7)
3a+2(x-2)=1-4x

@

DO | o

1
@ 9 9




17F 22 o, =

9|

0.3(x—3) =0.6x—3, 2x—a = 3x+19]

@ =10 3) -8

D =12



—3x+27=6x,4x+a=28

@ 20 B 24

A 4

D =20



17 A=

9]

WA 4x-9=2x+1Tax—-3=x+2 9

[at)
ol
&
‘ol
=
o+
~ S
H_OL -
e
= oy
= N

64.

® 3 3 7 @ 9 ® 11

@D 2



_29}

2a—|—x

=2x+19

o7} 2,



® 5 B 7 @ 9 B 11

@D 3



67. (r-2) : (x+2)=1: 3% WEahe o grol gy L9

(x—a) =49 L o], F5 a0 F2?

@D 3 ® 4 A 5 @ 6 o 7



68. (r-1): (x+1)=2: 3% W= o grol gy L2

(x-2a) =7 2] S| o], ¢ o] FL22

@D 3 ® 4 A 5 @ 6 o 7



=x—|—5, —ax+§:—5x—3

X
2

0.3 +

®1

0 | <t

10|

ax |

[a\W Yo



219 st e o), a o] oo

3 3 @ 4 ® 5



?

LSS
1

(x—3) :49] 3l

27

® 41 B 43 @ 45 B 47

@D 39



72.






x O] ZL2?

b

Z =]
=0

4:3 &9

HF A (Bx+2) : (x—1)

74.

3B 0



75.

(x—=1):3=(3x+2):4 A x 2] g9

D =2 ® -6 3 0

@ 2



76.

W=

) (5+x) & ZW?
13
® -5



:2=(2x+3) : 3



o, da + 3

S}
=

azt

=
=

(2x+3):2 9] 3f

):3

ol
0

‘ol

@ 5 3B 3

3 2



a2, 2472

B 13



80. H]eA %@-3):3: (03x+1):52

@ -60 @ -30 3 0



